new to range Enemeses

=

Automotive Parts

PASSENGER CAR

www.aplus-automotive.com



24383AP

new torange

JANUARY 2016

AUDI

STRUT CONTROL ARM

LEFT & RIGHT

Rear Axle

MODEL START YEAR END YEAR

OEM / COMPARISON NO

TECHNICAL SPECIFICATIONS

A3 (8V1) 2012/04

5Q0505323D

A3 (8V7) 2013/10

25977AP

CITROEN

TIE ROD END

I8 RIGHT
 *Handed : 14605AP
Front Axle

START YEAR END YEAR

OEM / COMPARISON NO

TECHNICAL SPECIFICATIONS

C3 (FC_) 2002/02

381762

381761

25978AP

CITROEN

TIE ROD END

'S LEFT
 *Handed : 14606AP
Front Axle

START YEAR END YEAR

OEM / COMPARISON NO

TECHNICAL SPECIFICATIONS

C3 (FC_) 2002/02

381761

381762

www.aplus-automotive.com 1



new torange

JANUARY 2016

25979AP CITROEN

I |LEFT & RIGHT
8 Front Axle @

AXIAL JOINT

MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
C3 (FC_) 2002/02 - 3812E6
25980AP CITROEN
|
AXIAL JOINT

LEFT & RIGHT
Front Axle g
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
C4 PICASSO I 2013/09 - 1610817680
25981AP CITROEN
C
BALL JOINT -
. | |
LEFT & RIGHT g i
Front Axle NS o e :
e
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
C4 PICASSO Il 2013/09 : 9803434080

www.aplus-automotive.com 2




new torange

JANUARY 2016

25983AP

CITROEN

WISHBONE

RIGHT

Front Axle

MODEL START YEAR

* Handed : 25982AP

END YEAR

OEM / COMPARISON NO

TECHNICAL SPECIFICATIONS

C4 PICASSO I 2013/09

9800596580-K1

25982AP

CITROEN

WISHBONE

LEFT

Front Axle

MODEL START YEAR

*Handed : 25983AP

END YEAR

OEM / COMPARISON NO

TECHNICAL SPECIFICATIONS

C4 PICASSO I 2013/09

9800596680-K1

25609AP

FIAT

BALL JOINT

START YEAR

END YEAR

OEM / COMPARISON NO

—

TECHNICAL SPECIFICATIONS

500 2012/01

2014/12

4877742AC-P

4877743AC-P

www.aplus-automotive.com 3




25610AP

new torange

JANUARY 2016

FIAT

WISHBONE

LEFT

Front Axle

* Handed : 25611AP

MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
500 SPORT 2012/01 201412 68245041AC
25611AP FIAT
WISHBONE
RIGHT
* Handed : 25610AP
Front Axle
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
500 SPORT 2012/01 2014/12 68245040AC
25589AP FORD
IDLER ARM
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
RANGER 4x2 / 4x4 2006/02 201212 1456009

6M343B139AA

www.aplus-automotive.com 4




new torange

JANUARY 2016

25592AP FORD

I
DRAGLINK
m

MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
RANGER 4x2 4x4 2006/01 - 1456010
6M343304AA
6M343304AA
25593AP FORD
|
DRAGLINK
CENTER m
LHD
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
RANGER 4x2 4x4 2006/01 - 1454583
6M343304BA
6M343304BA
25919AP JEEP
TIE ROD END
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
Wrangler 2007/01 2014/12 52060053AE

ES800594

www.aplus-automotive.com 5



new torange

JANUARY 2016

23248AP

LAND ROVER

WISHBONE

LEFT

Upper Front Axle

* Handed : 23247AP

MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
DISCOVERY Il (TAA) 2004/07 - LR051618
DISCOVERY Il IV 2005/01 2010/12 | RBJ500850
DISCOVERY IV (LA) 2009/09 - LR074838
RANGE ROVER SPORT (LS) 2005/02 -
23247AP LAND ROVER
WISHBONE
RIGHT
* Handed : 23248AP
Upper Front Axle
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
DISCOVERY Il (TAA) 2004/07 - LR051617
DISCOVERY Il IV 2005/01 2010/12 | RBJ500840
DISCOVERY IV (LA) 2009/09 -
RANGE ROVER SPORT (LS) 2005/02 -

25317AP

LAND ROVER

—
[ STRUT CONTROL ARM

LEFT & RIGHT
Rear Axle
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
FREELANDER 2 (FA_) 2006/10 - LR032308

www.aplus-automotive.com 6




new torange

JANUARY 2016

24765AP MAZDA
— . WISHBONE
~ RIGHT
p— * Handed : 24764AP
{é}:: = Front Axle
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
2 (DE) 2007/02 - D65134300E
24764AP MAZDA
— . WISHBONE
- LEFT
P * Handed : 24765AP
{é}:: = Front Axle
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
2 (DE) 2007/02 - D65134350E
25080AP MERCEDES BENZ

STRUT CONTROL ARM

RIGHT
* Handed : 25079AP
Rear Axle
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
GLE COUPE (C292) 2015/03 - 1663500206
M-CLASS (W166) 2011/06

www.aplus-automotive.com 7




new torange

JANUARY 2016

25079AP

MERCEDES BENZ

STRUT CONTROL ARM

LEFT
* Handed : 25080AP
Rear Axle

MODEL START YEAR END YEAR

OEM / COMPARISON NO

TECHNICAL SPECIFICATIONS

GLE COUPE (C292) 2015/03

1663500106

M-CLASS (W166) 2011/06

25977AP

PEUGEOT

TIE ROD END

RIGHT
* Handed : 14605AP
Front Axle

MODEL START YEAR END YEAR

OEM / COMPARISON NO

TECHNICAL SPECIFICATIONS

1007 (KM_) 2005/04

381762

25978AP

PEUGEOT

TIE ROD END

LEFT
* Handed : 14606AP
Front Axle

MODEL START YEAR END YEAR

OEM / COMPARISON NO

&3

TECHNICAL SPECIFICATIONS

1007 (KM_) 2005/04

381761

www.aplus-automotive.com 8




new torange

JANUARY 2016

25979AP PEUGEOT

AXIAL JOINT

LEFT & RIGHT

Front Axle

MODEL START YEAR END YEAR OEM / COMPARISON NO | TECHNICAL SPECIFICATIONS
1007 (KM_) 2005/04 - 3812E6

24383AP SEAT

LEFT & RIGHT

. Rear Axle

MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
LEON (5F1) 2012/09 - 5Q0505323D
24383AP SKODA
-
e —l STRUT CONTROL ARM
LEFT & RIGHT
Rear Axle
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
OCTAVIA (5E3) 2012/11 - 5Q0505323C
OCTAVIA Combi (5E5) 2012/11

www.aplus-automotive.com 9




new torange

JANUARY 2016

25654AP TATA
DRAGLINK
CENTER
Front Axle
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
TELCOLINE 4x2 (KISA) 1999/01 2003/12 265446600120
24383AP VW
|
STRUT CONTROL ARM
LEFT & RIGHT
Rear Axle
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
JETTA 2015/01 - 5Q0505323D
TIGUAN 2015/01
TOURAN 2015/01

www.aplus-automotive.com 10




new to range s

IR

Automotive Parts

COMMERCIAL VEHICLES

£ & www.aplus-automotive.com



new torange

JANUARY 2016

AGRALE

bp— ¢

MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
MT 12.0 - 6012007012007 CL : 28,1
CU . 246
L . 1610
PD : 42
25966AP AGRALE
TIE ROD END
RIGHT

* Handed : 25967AP

MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
MT 12.0 - 6012007012007-P1 CL : 28,1
CU : 246
D . W11/8-12RHT
. 126
25967AP AGRALE
TIE ROD END
LEFT

* Handed : 25966AP

MODEL START YEAR END YEAR OEM / COMPARISON NO | TECHNICAL SPECIFICATIONS
MT 12.0 - 6012007012007-P2 CL . 28,1
CU . 24,6
D . W11/8-12LHT
. 126

www.aplus-automotive.com




new torange

JANUARY 2016
25862AP FORD
|

TIE ROD
MODEL STARTYEAR | ENDYEAR | OEM / COMPARISON NO | TECHNICAL SPECIFICATIONS
CARGO - - 2UH415801 CL : 22,2
96HU3280AA CU : 19,2
96HU3280AA L . 1197
PD : 42
25865AP FORD
|
TIE ROD END
RIGHT

* Handed : 25866AP

MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
CARGO - - TJG711397X D . Mi12x1,75 RHT
M . M10x1,5
L 455
25866AP FORD
|
TIE ROD END
LEFT
* Handed : 25865AP
MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
CARGO - - TJG711511 D . M12x1,75 LHT
M . M10x1,5
L 455

www.aplus-automotive.com 2



new torange

JANUARY 2016

25867AP FORD

STABILIZER

-_

ZTg)

e |11 @

MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
F 13000 - - 86TU3304HA CL : 28,1
F 14000 - - 87TU3304AA CU : 246
F 19000 - - 87TU3304AA L . 388
F 21000 - - PD : 40
F 22000 - -
25868AP FORD
|
TIE ROD
- B
MODEL STARTYEAR | ENDYEAR | OEM / COMPARISON NO | TECHNICAL SPECIFICATIONS
CARGO - - 87HU7KO046AA D . Mi2x1,75
87HU7K393CB M . M10x1,5
87HU7K393CB L . 245
25667AP ISUZU

]
m TIE ROD
CENTER _
§=‘_€ ' 1. .rf Front Axle

MODEL START YEAR END YEAR OEM / COMPARISON NO | TECHNICAL SPECIFICATIONS
NOVO OTOBUS 2011/01 - 387023918001 CL . 22,6/26,2
CU . 19,6/23,5
L . 1076
PD . 40

www.aplus-automotive.com 3




new torange

JANUARY 2016

25894AP

IVECO

- i -

TIE ROD
‘_EE-ﬂ
= = -

MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
VERTIS 90V16 - - 5949893792 CL : 283
CU . 245
L .815
PD : 42
25895AP IVECO
|
TIE ROD
L)
MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
VERTIS 130V18 - - 5949893629 CL : 26,2
CU : 235
L .718
PD : 42
25095AP MAN
RUBBER MOUNTING
MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
F2000 1994/01 - 81437220092 oD : 62
TGA 2000/03 - ID : 202
TGL 2005/04 - h .945
TGS 2007/08 -
TGX 2007/09 -

www.aplus-automotive.com 4



new torange

JANUARY 2016

MERCEDES BENZ

MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
LP 608-1113 1963/09 - 3843207389 CL : 183
OF Series 1983/01 - 3843207889 CU : 16,2
OH Serie 1970/01 - L 310
PD . 25
23594AP MERCEDES BENZ
STABILIZER
MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
LP 608-1113 1963/09 - 11DS9081 CL : 183
3453207389 CU: 16,2
L . 260
PD . 25
25869AP MERCEDES BENZ
|
TIE ROD
MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
LK/LN2 1984/01 1998/12 | 3444609805 CL : 26,6
3454608305 CU . 235
3454608305 L . 671
PD : 36

www.aplus-automotive.com 5



new torange

JANUARY 2016

25870AP MERCEDES BENZ
]
TIE ROD
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
LK/LN2 1984/01 1998/12 | 3444609405 CL . 26,6
OF Series 1983/01 - 3444609605 CU : 23,5
3444609605 L . 804
PD : 40
25873AP MERCEDES BENZ
STABILIZER
n\°¢,
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
OF Series 1983/01 - 3453207189 CL . 18,3
OH Serie 1970/01 - CU . 16,2
L .310
PD . 25
25874AP MERCEDES BENZ
]
STABILIZER
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
LK/LN2 1984/01 1998/12 | 3863207089 CL . 18,3
LS 1624 - - 3863207189 CU : 16,2
LS 1632 - - 3863207189 L . 330
LS 1634 - - PD . 25
OH Serie 1970/01 -

www.aplus-automotive.com 6



new torange

JANUARY 2016

MERCEDES BENZ

25876AP
]
STABILIZER
.
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
LK/LN2 1984/01 1998/12 | 6963207189 CL . 18,3
LS 1938 - - CU : 16,2
LS 2638 - - L . 380
PD . 25
25877AP MERCEDES BENZ
]
STABILIZER
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
LK/LN2 1984/01 1998/12 | 3843207989 CL . 18,3
OF Series 1983/01 - CU . 16,2
OH Serie 1970/01 - L . 380
PD . 25
25879AP MERCEDES BENZ
TIE ROD
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
ACCELO 2003/05 - 9794600105 CL . 26,2
CU . 23,5
L .720
PD . 38

www.aplus-automotive.com 7



new torange

JANUARY 2016

MERCEDES BENZ

STABILIZER
MODEL START YEAR | END YEAR | OEM / COMPARISON NO | TECHNICAL SPECIFICATIONS
O 500 2000/01 - 6343200089 CL . 18,3
OF Series 1983/01 - CU . 16,2
OH Serie 1970/01 - L .2945
PD . 25
25889AP MERCEDES BENZ
]
TIE ROD
MODEL START YEAR | END YEAR | OEM / COMPARISON NO | TECHNICAL SPECIFICATIONS
HPN 1620 - - 6954600205 CL . 30,2
L1218 R - - CU . 27,1
L1418 R - - L . 808
L 1620 - - PD . 40
LK/LN2 1984/01 1998/12
25892AP MERCEDES BENZ
TIE ROD
I I
!‘_“:_: = — == |, !
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
ATEGO - - 9582600789 D . Mi12x1,75
M . M10x1,5
L . 306

www.aplus-automotive.com 8



new torange

JANUARY 2016

MERCEDES BENZ

W

MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
ATEGO 1315 - 1419 1998/01 2004/10 95846000205 CL . 30,2
ATEGO 1517 - 1728 1998/01 2004/10 CU : 27,1
ATEGO 2223 - 2530 1998/04 2004/10 L . 847
PD . 50
26000AP MERCEDES BENZ
TIE ROD END
LEFT
* Handed : 26001AP
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
ATEGO - - 9582600789-P2 D . M12x1,75 LHT
M . M10x1,5
L .545
26001AP MERCEDES BENZ
TIE ROD END
RIGHT

* Handed : 26000AP

MODEL START YEAR END YEAR OEM / COMPARISON NO | TECHNICAL SPECIFICATIONS
ATEGO - - 9582600789-P1 D . M12x1,75 RHT
M . M10x1,5
L :545

www.aplus-automotive.com 9



new torange

JANUARY 2016

MERCEDES BENZ

26041AP
|
TIE ROD END
RIGHT
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
LK/LN2 1984/01 1998/12 3444609405-P CL . 26,6
OF Series 1983/01 - 3444609605-P CU : 23,5
D . M30X1,5 RHT
. 139
26004AP OTOKAR
TIE ROD
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
KARSAN J 10 2010/01 2014/12 K640068 D . M10x1,5
M . M8x1,25
L .3325
26005AP OTOKAR
TIE ROD END
LEFT
* Handed : 26006AP
Front Axle
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
KARSAN J 10 2010/01 2014/12 K640068-P2 D . M10x1,25 LHT
M . M8x1,25
L .44

www.aplus-automotive.com




new torange

JANUARY 2016

OTOKAR

TIE ROD END

RIGHT

Front Axle

*Handed : 26005AP

MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
KARSAN J 10 2010/01 2014/12 | K640068-P1 D . M10x1,25 RHT
M . M8x1,25
L .44
25998AP RENAULT
|
ol TIE ROD END
RIGHT
MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
PREMIUM 1996/04 - 5001868389-P CL : 304
PREMIUM 2 2005/10 - 5010647032-P CuU : 27,1
5010647033-P D . M30x1,5RHT
7421560884-P L . 145
23642AP SCANIA
REPAIR KIT
MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
Bus F,K,N - - 1783020 oD 75
IRIZAR PB - - I . 115
Serie 4 1995/09 2004/09 ID . 17

www.aplus-automotive.com




new torange

JANUARY 2016

SCANIA

MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
4 SERIES TRUCK - - 1512923 CL . 30,2
Serie P,G,R,T 2004/03 - 1755217 CU . 27,1
2007280 L .1950
PD . 60
25583AP TATA
]
TIE ROD END
LEFT
* Handed : 25584AP
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
LPT 613 2000/01 - 264126800225 D . M12x1,25 LHT
M . M10x1
L .55
25584AP TATA
]
TIE ROD END
RIGHT

*Handed : 25583AP

MODEL START YEAR END YEAR OEM / COMPARISON NO | TECHNICAL SPECIFICATIONS
LPT 613 2000/01 - 264126800224 D . Mi12x1,25 RHT
M . M10x1
L :55

www.aplus-automotive.com




new torange

JANUARY 2016

25585AP TATA
|
TIE ROD
CENTER
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
LPT 613 2000/01 - 276326807901 D . Mi12x1,25
M . M10x1
L . 320
22911AP VOLVO
TIE ROD
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
FL6 1985/09 2000/03 | 20376370 CL : 28,8
20386337 CU . 23,9
85115619 L . 847
PD . 52
25644AP VOLVO
STABILIZER
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
FH12 1993/08 - 20994418 CL . 29/32,2
FL6 1985/09 2000/03 CU . 24,6 /28,1
FM 2005/09 - L . 435
FM 12 1998/08 = PD . 36
FM 9 2001/12 2005/09

www.aplus-automotive.com




new torange

JANUARY 2016

VOLVO
TIE ROD END
RIGHT
MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
FL6 1985/09 2000/03 | 20376370-P CL : 288
20386337-P CU : 239
85115619-P D . M30x1,5RHT
L . 141
25998AP VOLVO
|
TIE ROD END
RIGHT
MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
FE 2006/05 - 20777411-P CL : 304
21560884-P CuU : 27,1
D . M30x1,5 RHT
L . 145
23746AP W
|
TIE ROD
MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
7-100/110/120 - - 2TA415701 CL : 222
8-120/1200D/140/150/150EOD - - CU : 19,2
9-150 WORKER - - L . 819
9-150EOD - - PD : 42
L 80 1995/07 2000/12

www.aplus-automotive.com 14




new torange

JANUARY 2016

|
TIE ROD
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
CONSTELLATION 31-280 - - 2U2422335H CL . 28,1
CONSTELLATION 31-320 - - CU : 24,6
CONSTELLATION 31-330 - - L . 930
CONSTELLATION 31-390 - - PD . 42
EURO V 26-280 - -
EURO V 31-280 - -
25897AP W
TIE ROD
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
9-160 - - 2P0415701 CL . 22,2
DELIVERY 8-150 - - 2P0422335G CU . 19,2
DELIVERY 8-160 - - 2P0422335G L 793
PD . 42

www.aplus-automotive.com




new torange

JANUARY 2016

25898AP VW
-

TIE ROD END

MODEL STARTYEAR | ENDYEAR | OEM/ COMPARISON NO | TECHNICAL SPECIFICATIONS
11-130 - - T11711551 D . Mi4xi5

12-180 - - L .895
14-150 - -
14-170 - -
14-180 - -
14-200 - -
14-220 - -
16-170 - -
16-200 - -
16-220 i )
6-80 - -
6-90 - -

25899AP VW

TIE ROD END

RIGHT

* Handed : 25900AP

MODEL START YEAR END YEAR OEM / COMPARISON NO | TECHNICAL SPECIFICATIONS
7-100 - - 2RD711397X D . M12x1,75 RHT
8-140 = s M . M10x1,5
L 455

www.aplus-automotive.com 16




new torange

JANUARY 2016

TIE ROD END

LEFT

*Handed : 25899AP

MODEL START YEAR | END YEAR OEM / COMPARISON NO | TECHNICAL SPECIFICATIONS
7-100 - - 2RD711397AX D . M12x1,75 LHT
8-140 = - M . M10x1,5
L .455
25902AP VW
TIE ROD
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
15-180/190 OED - - 2TJ415801 CL : 28,1
16-180 = - CU . 24,6
16-180/210 OC - - L . 1647
17-210/230/260 EOD = = PD . 42
25903AP vw
TIE ROD
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
ONIBUS 7-100 - - 2RD415701 CL : 222
ONIBUS 8-140 = - CU . 19,2
L 835
PD . 42

www.aplus-automotive.com




new torange

JANUARY 2016

TIE ROD
MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
5-150 - - 2P0422803 CL : 222
5-150 EOD - - 2P0422803B CU : 19,2
2P0422803B L . 1368
PD : 42
25909AP VW
|
TIE ROD
w
MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
WORKER 24-220 - - 2T0422803 CL : 312
WORKER 26-220 - - 2U0422803 CU: 275
WORKER 26-260 - - 2U0422803 L .944
WORKER 26-300 - - PD : 50

WORKER 26-310

WORKER 31-260

www.aplus-automotive.com




new torange

JANUARY 2016

|
TIE ROD
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
CONSTELLATION 26-220 - - 2U0199184 L . 1885
CONSTELLATION 26-260 - - PD . 20
CONSTELLATION 26-280 - - ID . 12,2
CONSTELLATION 26-300 - -
CONSTELLATION 26-310 - -
WORKER 26-220 = -
WORKER 26-260 - -
WORKER 26-300 - -
WORKER 26-310 - -
25966AP VW
TIE ROD END
RIGHT
* Handed : 25967AP
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
15-180/190 OED - - 2TJ415801-P1 CL . 28,1

16-180

CU : 24,6

16-180/210 OC

D . W11/8-12RHT

17-210/230/260 EOD

www.aplus-automotive.com

L 126




new torange

JANUARY 2016

TIE ROD END

LEFT

*Handed : 25966AP

MODEL STARTYEAR | END YEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
15-180/190 OED - - 2TJ415801-P2 CL . 28,1
16-180 - - CU . 246
- - D . W11/8-12LHT

16-180/210 OC

17-210/230/260 EOD

www.aplus-automotive.com

L

. 126

20




new to range nemeses

=

Automotive Parts

RUBBER TO METAL

www.aplus-automotive.com



24442AP

new torange

JANUARY 2016

BMW

SILENTBLOCK

LEFT & RIGHT

Front Axle

MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
X3 (F25) 2010/09 - 33326786981-PART
X3 F25 xd 2010/09 -
X4 (F26) 2014/04 -
25329AP FIAT
SILENTBLOCK
-
MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
PANDA (NUOVA) 312 2012/02 - 51928527-P
51928536-P
51957400-P
51957401-P
25666AP FIAT
|
o ,
SILENTBLOCK
MODEL STARTYEAR | ENDYEAR | OEM/COMPARISON NO | TECHNICAL SPECIFICATIONS
500 2012/01 2014/12 | 04670551AD
500 SPORT 2012/01 2014/12

www.aplus-automotive.com




new torange

JANUARY 2016

24877AP LANCIA
-

SILENTBLOCK

MODEL START YEAR END YEAR OEM / COMPARISON NO | TECHNICAL SPECIFICATIONS
YPSILON (846) 2011/05 - 51898068

22621AP LAND ROVER

SILENTBLOCK

LEFT & RIGHT
Front Axle
MODEL START YEAR END YEAR OEM / COMPARISON NO TECHNICAL SPECIFICATIONS
DISCOVERY Il (TAA) 2004/07 - RBX500443
DISCOVERY IV (LA) 2009/09
RANGE ROVER SPORT (LS) 2005/02
24768AP MAZDA

MODEL START YEAR END YEAR OEM / COMPARISON NO | TECHNICAL SPECIFICATIONS
2 (DE) 2007/02 - D65134300E-PART

D65134350E-PART

www.aplus-automotive.com 2




new torange

JANUARY 2016

25434AP MERCEDES BENZ

SILENTBLOCK

LEFT & RIGHT

MODEL START YEAR END YEAR OEM / COMPARISON NO | TECHNICAL SPECIFICATIONS
M-CLASS (W166) 2011/06 - 1643260681
1663260281
1663260281

www.aplus-automotive.com 3




